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QUESTION 1

Why would an administrator issue the command oc get routes ? 

A. To access a service within an IBM Cloud Pak for Automation component using an OpenShift route 

B. To configure an OpenShift route to be used by a service within an IBM Cloud Pak for Automation component 

C. To determine the URL to be used to access a service via an OpenShift route within an IBM Cloud Pak for Automation
component 

D. To test an OpenShift route being used by a service within an IBM Cloud Pak for Automation component 

Correct Answer: C 

 

QUESTION 2

What must an administrator make sure of before a toolkit contributor can successfully communicate with Business
Automation Studio? 

A. The Business Automation Studio and the contributor share the same database. 

B. Transport Layer Security (TLS) certificates are exchanged between Business Automation Studio and the contributor. 

C. The contributor is installed on the same server as Business Automation Studio. 

D. The contributor is also a Kubernetes-based service or product. 

Correct Answer: B 

https://www.ibm.com/support/knowledgecenter/SSYHZ8_20.0.x/com.ibm.dba.install/op_topics/tsk_basconfig_toolkits.ht
ml 

 

QUESTION 3

Which component of the Cloud Pak provides a verify container to validate a proper installation and configuration? 

A. IBM Business Automation Application Engine 

B. IBM Business Automation Content Analyzer 

C. IBM FileNet Content Manager 

D. IBM Automation Digital Worker 

Correct Answer: B 

 

QUESTION 4
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In OCP, what is a monitoring component that is configurable? 

A. Grafana 

B. Kafka 

C. Elasticsearch 

D. Fluentd 

Correct Answer: A 

https://docs.openshift.com/container-platform/4.1/monitoring/cluster_monitoring/configuring-the-monitoring-stack.html 

 

QUESTION 5

Which value must be changed if several Digital Worker installations are connecting to a single User Management
Service instance? 

A. adwUser 

B. adwPassword 

C. oidcciientld 

D. adwPoute 

Correct Answer: A 
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